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The Test of Reading Competency of Technical English for Communication

Directions: This English Reading test consists of 30 questions with 5 passages. You will read all
of the passages and the questions, so read carefully. After you read a question, read the four
possible answers and decide which one is the best answer. Then, on your answer sheet mark the

answer you have chosen. Answer all questions based on what is stated or implied in each passage.

Example:

The print head contains up to fourcartridges of colored inks in black, cyan, yellow and
magenta. The ink runs through chambers to tiny nozzles lined up in rows on the cartridges.
Electrical signals from the printer instruct the print head to fire droplets of ink out of the

cartridges through the nozzles and onto the paper.

Example Question:

What does a printer do?
a. writes short stories b. prints texts and graphics
c.-hammers nails d. stores data

The best answer to question “What does a printer do?” is “b” prints texts and graphics”.

Therefore, mark (x) on the answer sheet under the letter “b”

) (x) () ()

Now compiete the test. Remember, you should read all of the passages and questions and choose

the best answer to each question,
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Questions 1 to 6 are based on Passage 1

Passage 1
Smart Card
The integrated circuit (IC) logic card is known ; . .

as the smart card because it can handle many functions.

The card is marked with a magnetized strip, similarto

those found on credit and automated telling machine
5 access cards, that contains a coded number assigned to it.
The card also carries a tiny microchip that allows it to

perform computations.

Able to hole about 100 times more information
than simple magnetic cards, IC logic cards can be used to
10 store a person’s entire medical or banking record, in addition to the bearer’s
photograph, signature, and any other data that can be digitized and read by a
scanner.
The integrated circuit
An IC, also called a microchip is the heart of a smart card. A thin sandwich of silicon
15" and metal, the IC electronically stores and retrieves data. With a smart card, some types of data
can be altered, others cannot.
The function of external pins
The microchip on a smart card requires a series of external pins to connect it to
communicate with a terminal and other devices. The function of each pin on a typical IC card is
20 listed below.

Inputs and outputs of logic card’s microchip

1 - circuit voltage 2 - reset

3 - clock 4 - extrapin

5 - earth 6 - program supply voltage
7 - data input/ output 8 - extrapin



Questionl.

Question2.

Question3.

Questiond.

Question5.

What is the function of a smart card?

a) store medical, banking to personal information
b) store coded numbers to tiny microchips
¢} store information that an IC logic card store

d) download files

What do the letters IC stand for?

a) Logic card
b) Integrated circuit
¢) Information card

d) Internal computer

What part of a smart card stores data?

a) External pin
b) Magnetized strip
¢) Integrated circuit

d) Tiny microchip

What word in paragraph | means “Given or allocated”?

a) assigned
b) coded
¢) acceded

d) contained

On line 5 what does *“that” refer to?

a) asmart card
b) alogic card
¢) a magnetized strip

d) an ATM

81
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Question6. What benefit does an IC card have over other magnetic cards?
a) Downloads information quicker
b) Holds more information
¢) Uses less energy

d) Contains coded number

Questions 7 to 12 are based on Passage 2

Passage 2

Electronics

Can you guess what they are?

Electronics is a word that is hard to define. It is probably first used in the 1930’s to
describe industrial applications of the radio values (tubes) developed for use in radio. Then
transistors were invented and the name was applied to them as well. Today, values (tubes) and
transistors are used more outside the radio field than in it, and radio is now thought of as just one
of the many branches of electronics.

Apart from the value, or more usually today a transistor, the basic electronic circuit
also includes components known as resistors and capacitors and occasionally inductors as well. A
resistor offers resistance to an electric current: It is used to control the flow of current in
electronic circuits. Capacitors consist basically of two metal plates separated by an insulating

layer. They possess the ability to store for short or long periods and so are very useful in
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electronics. Inductors are coils of wire. They too can store electrical energy — in the form of a
magnetic field which surrounds the coils when a current flows through it.

One important class of electronic circuit, know as logic circuits, forms the building
blocks from which computers are made. Made from transistors, resistors and capacitors they can,
for example, be designed to give an output signal when there is a signal on‘both the inputs: this
type is called an AND gate. Alternatively, they can be designed to give an output signal when
there is an input signal on only one of two input connections: this type is called an OR gate. Many

15 other arrangements are possible.

By using them and similar circuits ¢lectronics engineers are able to design equipment
that will switch on TV cameras on spacecraft as far away as the Moon; switch on instruments on
spacecraft approaching the planet Venus; and control the ignition circuits of the family
automobile. The introduction of cheap micro electronic circuit in the late 1960z is great speeding

up the'spread of electronic control.

Question7. In contemporary society, what are transistors used in?
a) radio fields only
b) many electronical fields
¢) \branches of electronics

d) computers only

Question8. How many components are there in an electronic circuit?
a) 4
b) 3
c) 2
d) s

Question9. Which type of circuit is used in the production of computers?
a) basic
b) electronic
c) logic‘

d) building
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Question10.  On line 9 what word means “kept apart™?
a) separated
b) insulated
c) consisted

d) possessed

Questionll.  What does “they” refer to on line 12?7
a) logic circuits
b) transistors
¢) resistors

d). capagcitors

Question12. . What implication is there from the introduction of microelectronic circuits?

a) having cheap price
b) speeding up electronic control
¢) spreading electronic control

d) speeding up the spread of electronic control
Questions 13 to 18 are based on Passage 3

Passage 3
How does an electricity meter work?

To know how much to charge each
household for the electricity it uses, the power company

installs a meter that measures the current flowing into

that house. The unit of measurement is the kilowatt-

house-an hour’s supply of electrical energy at a power of

1,000 watts.



&

The electricity meter makes use of the fact, discovered in the early
nineteenth century by several European scientists, that a coil of wire carrying
an electric current exerts a force on a permanent magnet. In

10 an electricity meter, this force moves a spinning disc.

A permanent magnet provides a braking effect, keeping the
disc’s movement proportional to the strength of the
current. The disc is linked by gears to a counter that records
the number of rotations depends on, and thus measure. the
15 amount of power used.

One coil has many windings and the other has little. The difference causes the current
to be out of step by one-quarter of a wavelength, resulting in a change of the magnetic field
direction during current cycle. This change in field direction is basically the same as moving a

magnet.

Question13.  What is the main idea of the passage?
a) The mechanics of an electricity meter.
b) The purpose of an electricity meter,
¢). The history of an electricity meter.

d) The importance of an electricity meter.

Question14.  What unit is used to measure the electrical supply to a household?
a) kilogram
b) kilowatt
¢) milligram

d) gram

Question15.  What effect does a permanent magnet have on an electricity meter?
a) braking
b) gears
¢) rotation

d) disc



Question16.

Question17.

Question18.

86

What word on line 16 means “a small amount”?
a) many
b) different
c) little

d) other

On line 2, what does the pronoun “it” refer to?
a) A household
b) The power company
¢) Electricity meter

d) Electricity

Why are meters installed in households by power companies?
a) to know how to use electricity ina house
b) to know how much to charge each household for electricity
¢) to know when the electricity stops working

d) to make the electricity meter work

Questions 19 to 24 are based on Passage 4

Passage 4

Free Etlectrons
Jumping Fram
Arom ta Atom

Positively Charged

Defi~iency of
Electrons

Ne gatively Charged

Surplius af
Eftectrons

Above: An electric current is a mMoverment, or flow,_  of

. Sree’ eloctrons, the tiny particles which usualty circle

the nucteus of an atom. The electro

1o atom when thore is a difference o;‘zljocur::‘i:c'a';q:r;sl:me'
(voltage) betwean the ends of a wire. This voltage is
pfoduoed Oy ensuriog that the atoms at one end of tte
wire are short of eltectrons (positively charged) wnile
those at the other end of the wire have a surplus of
_elec(_rons (negatively charged). By convention. a current
IS said to flow through a circuit from the posi{ive ter-
m-ngl oOof a battery to the negative terminal. In fact, the
Moving efactrons flow in the other dircction. ’
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How does electric current move?

An electricity current is a movement, or flow, of minutes particles calls electrons.
Normally, electrons are attached to an atom and circle round its central nucleus in orbits just
artificial satellites orbiting the Earth, Each electron has the same charge or “packet” of electricity
described as a negative charge. Usually, the nucleus has exactly enough positive electrical

5 charges to balance the negative charges on the electrons, so that the afom as a wiole neutral.

A current of electricity must have a completely unbroken path, or circuit. Wires which
carry an electric current are often made of'copper. Copper is a good conductor of electricity.
Materials such as rubber and plastic are good insulators. When an electric current flows through a
conductor that offers resistance to'its flow, it heats the conductor up. If the conductor is made of

{g Suitable resistance wire, it will glow red and give off a good heat. This is the principle used in
electric fires.

Electricity for lighting, heating, etc., is generated by what are called alternators. These
machines make use of the fact when a wire moves through a magnetic field, a current is set up, or
induced, in the wire. [n an alternator the wires are arranged in a circle around a rotating shaft
called the armature. The current is taken from the wires through metal rings on the shaft which

15 make contact with two fixed carbon brushes. As wire rotate, they move downwards through the
magnetic field and then upwards. This means that the direction of the induced current keeps

changing-it'is alternating current.

Question19.  What is the main idea of the passage?
a) How electricity moves
b) How electricity is used
¢) How electricity is resisted

d) How electricity is generated

Question20.  Name one difference between copper and rubber.
a) Copper is a conductor but rubber is an insulator
b) Copper is an insulator but rubber is a resistor
¢) Copper and rubber are alternators

d) Copper is an armature but rubber is an orbit



Question21.

Question22.

Question23.

Question24.

What generates electricity for lighting?
a) alternators
b) copper
¢) insulators

d) armature

What word on line 4 is the opposite to“‘positive”?
a) enough
b) nucleus
c) balance

d) negative

On line 1 in the last paragraph, what does “these machines” refer to?
a) electricity
b) alternators
c) wire

d) current

What do alternating currents create?
a) electricity for lighting and heating
b) electricity for heating and moving
¢) electricity for lighting and rotating

d) electricity for moving and generating

88
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Questions 25 to 30 are based on Passage 5

Passage 5
A Lift and An Escalator

A lift is an enclosed cage that runs on
guide rails as it is carried up and down a shaft.
Typically a pulley system powered by a motor
provides the force to move the cage. The‘amount
of force needed is reduced by a counterweight,
which is about 40 percent heavier than the cage
and travels on'its own rails.

Modern lifts are more safe because

there are numerous safety systems; special brakes
to lock if the power fails, buffers to reduce shock
of sudden stops, and jaws to clamp-in case a cable

breaks. A lift is able to safely travel as many as 110 floors.

Escalators are moving staircases that operate in conveyor-belt fashion and carry
passengers between two floors. A continuous length of interconnected but movable stairs is held
together by a flexible chain that loops around two toothed gears, the upper one driven by a motor.
Each stair has a pair of rollers on either side that sit in grooved rails. The position of the stairs
depends on the rails. The stairs pivot up as they ride toward the drive gear and sink down, locking

into place to form a smooth surface, as each one reaches the top.



Question25.

Question26.

Question27.

Question28§.

Question29.

What is the main idea of the article?
a) The function of a lift and escalators
b) The benefits of lifts and escalator
¢) The mechanics of lifts and escalators

d) The price of a lift and escalator

What function do lifts and escalators share?
a) They both have stairs
b) They both carry passengers up and down floors
¢) They both travel 110 floors

d) They both transport people in cages

What is the difference between a lift and escalator?
a) The speed in which they travel
b) The date they were invented
¢) The number of floors they transport between

d) The places they are located

What word means “gives” on line 4, first paragraph?
a) forces
b) moves
¢) amount

d) provides

In the escalator paragraph on line 5, what does “they” refer to?
a) Rails
b) Rollers
¢) Motors

d) Stairs

90
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What implications would there be if the counterweight was removed from a lift?
a) The force motor would get heavier
b) The force motor would increase
¢) The force motor would reduce

d) There would be no implications
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1.-What is the function of a smart card?
a) store medical, banking to personal
information
b) store coded numbers to tiny microchips
¢) store information that an IC logic card
store

d) doewnload files

2. 'What do the letters IC stand for?
a) Logic card
b) Integrated circuit
¢) Information card

d) Internal computer

3. What part of a smart card stores data?
a) External pin
b) Magnetized strip
c) Integrated circuit

d) Tiny microchip
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(Understanding Supporting
Details)
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4. /What'word in paragraph | means “Given or ﬁWﬁwﬁ(Vocabulary)

allocated™?
a) assigned
b) coded

¢) acceded

d) contained

5. On line 5 what does “that” refer to? A191999 (Reference)

a) asmart card
b) a logic card

¢) a magnetized strip

d) an ATM
6. What benefit does an IC card have over maugasdoromduiomie L
other magnetic cards? ﬂWSﬁiﬂﬂJWM (Implication or
a) Downloads information quicker Inference)

b) Holds more information
¢) Uses less energy

d) Contains coded number
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7.~ Inrcontemporary society, what are ANvawIolumssu
transistors used in? #1A9Y (Main Tdea)

a)radio fields only

b) many electronical fields

¢) branches of electronics

d) computers only

8. How many components are there in an nsdulanamses
electronic circuit? (Understanding Supporting
a)d b)3 Details)
c)2 d)s
9. Which type of circuit is used in the msiulannuses

production of computers? (Understanding Supporting

a) basic b) electronic Details)

c) logic d) building

10. On line 9 what word means “kept apart™? e ¢
AANN (Vocabulary)
a) separated b) insulated

c) consisted  d) possessed
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11, What does“‘they” refer to on line 127 A1OWOY (Reference) O\ LT e
a) logic circuits™  b) transistors

c) resistors d) capacitors

12. What implication is there from the msugaedenuiluiovie ..
introduction of microelectronic circuits? 1597327 (Implication or
a) having cheap price Inference)
b) speeding up electronic control

c) spreading electronic control

d) speeding up the spread of electronic

control
13. What is the main idea of the passage? amweuselumssuleny L
a) The mechanics of an electricity meter. ﬁ?ﬁm‘, (Main Idea)

b) The purpose of an electricity meter,

¢) The history of an electricity meter.

d) The importance of an electricity meter.

14. What unit is used to measure the electrical mstulenswses L .
supply to a household? (Understanding Supporting

a) kilogram  b) kilowatt Details)

c) milligram d) gram
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15, What effect does a permanent magnet msdulennuses
have on an electricity meter? (Understanding Supporting
a) braking b) gears Details)
c) rotation d) disc

16. What word on line 16 means*“a’small ﬁ?ﬁwﬁ(\/ocabulary)

amount”?

a)many b) different

c) little d) other

17. Online 2, what does the pronoun “it” refer A9 (Reference)
to?
a) A household
b) The power company
¢) Electricity meter

d) Electricity
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18.

- What is the main idea of the passage?

Why. are meters|installed in households by msuam%’amwmﬂuﬁw?a
power- companies? msﬁ;ﬂmm (Implication or
a) to know how to use electricity in a house \ [nference)
b) to know how much to charge each

household for electricity
¢) to know when the'electricity stops

working

d) to make the electricity meter work

anuanselumsiulannw
a) How electricity moves 8198y (Main 1dea)
b) How electricity is used

c) How electricity is resisted

d) How eleetricity is generated




A1319N 5 (M)

ANNINITOIHMTON USRI

dYomou o 4 y
mdanguiientile i 0 -1

3
REIION
wuvanruawiselumsswumuissngy

a & 5 o @ A

madaen A latlunuuyside 3w
3/ [ Y - @

30 48 1¥3avinue 5 vinwe fle 1. msdy

Tanwddgy 2. msdulenuses

4

3. AdwT 4. A181989 5. msuaasden
-}

o =
Lﬂuuumemsﬁqﬂmm 138160 UIN

(dsanamnldlunisesuiedon)

20.”Name one difference between copperand 013 whanwses 0 0 L e
rubber. {Understanding Supporting
a) Copper is a conductor but rubber is an Details)
insulator
b) Copper is an insulator but rubber is a
resistor
¢) Copper and rubber are alternators

d)Copper.is an armature but rubber is an

orbit
21. What generates electricity for lighting? msdulemawses L
a) alternators b) copper {(Understanding Supporting
¢) insulators d) armature Details)
22. What word on line 4 is the opposite to fArdnst (Vocabulary) ...
“positive”?
a) enough b) nucleus

c) balance d) negative
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23 Online 1 in the last paragraph, what does 181989 (Reference)

“these/machines” refer to?

a) electricity b) alternators
¢) wire d) current

24. What do alternating currents create? manaasdendmnuionie
a) electricity for lighting and heating M3a31A27 (Implication or
b) electricity for heating and moving Inference)

¢) electricity for lighting and rotating

d) electricity for moving and generating

25. What is the main idea of the article? aAwamnlunmsivlanim
a) The function of a lift and escalators #7199y (Main Idea)
b) The benefits of lifts and escalator
¢) The mechanics of lifts and escalators

d) The price of a lift and escalator

......
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26. What function do lifts and escalators share? M3Tulaanusoq
a) They both have stairs (Understanding Supporting
b) They both carry passengers up and Details)
down floors

¢) They both travel 110 floors

d) They both transport people in cages

27. What is the difference between a lift and mMsiulanaiuses
escalator? (Understanding Supporting
a) The speed in which they travel Details)
b) The date they were invented
¢) The number of floors they transport
between

d) The places they are located

28. What word means “gives” on line 4, first ﬁWﬁWﬁ(Vocabulary)
paragraph?
a) forces b) moves

¢) amount d) provides
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29/ /Inthe-escalator paragraph on line 5, what MBI (Reference) /e
does “they” refer to?
a) Rails b) Rollers

¢) Motors d) Stairs

30. What implications would there be)if the nsuaasdenrundulonse . L.
counterweight was removed from a lift? Msa3UAW (Implication or
a) The force motor would get heavier Inference)
b) The force'motor would increase
¢) The force motor would reduce

d) There wouid be no implications
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Foii . . . 59 A 10C
AU 1 AR 2 AN 3
| 1 | | 3 1.00
2 1 0 1 2 0.67
3 0 1 1 2 0.67
4 0 1 I 2 0.67
5 1 1 1 3 1.00
6 1 0 1 2 0.67
7 1 1 1 3 1.00
8 1 1 1 3 1.00
9 1 0 1 2 0.67
10 1 [ 0 2 0.67
11 1 1 0 2 0.67
12 0 1 1 2 0.67
13 1 1 1 3 1.00
14 1 1 1 3 1.00
15 1 1 0 2 0.67
16 1 1 1 3 1.00
17 1 1 1 3 1.00
18 1 1 1 3 1.00
19 1 1 1 3 1.00
20 1 1 1 3 1.00
21 0 1 1 2 0.67
22 1 1 1 3 1.00
23 1 1 0 2 0.67
24 1 1 1 3 1.00

25 0 1 1 2 0.67
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29 0 I 1 2 0.67
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Vo P, P p r Vo P P p r
1. 0.60 0.50 0.55 0.20 16. 0.70 0.30 050" 0.40
2. 0.80 0.40 0.60 0.20 17. 0.60 0:20 040 0.40
3. 0.60 0.30 045 030 18. 0.50 0.30 040 0.20
4, 100 0.20 0.60 0.80 19. 0.60 0.20 040 040
5. 0.80 0.40 0.60 0.40 20, 0.70 0.40 0.55 030
6. 0.70 0.30 0.50 040 21, 0.60 0.40 0.50 0.20
7. 090 0.40 065 0.50 22, 0.70 0.30 0.50 - 0.40
8. 0.80 0:50 0.65 » 0.30 23, 0.40 0.30 0.35 .0.20
9, 0:80 0.20 0.50  0.60 24, 0.80 0.50 0.65 0.30
10. © 0.90 0.30 0.60 0.60 25. 0.90 0.50 0.70 0.40
11, 1.0.60 0.20 040 040 26, 0.90 0.40 0.65 0.50
12.  0.80 0.30 0.55 0.50 27, 0.80 0.50 0.65 0.30
13, 0.70 0.30 0.50 _ 040 28. 0.60 0.30 045 030
14. 090 020 055 070 20. 080 050 065 030
15. 090 © 030 0.0 0.60 3. 080 040  0.60 040
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1o p q pq 2\ p q pq

1. 0.58 0.42 0.25 16. 0.58 0.42 0.25
2. 0.55 0.45 0.25 17. 0.40 0.60 0.25
3. 0.48 0.52 0.25 18. 0.45 0.55 0.25
4, 0.58 0.42 0.25 19. 0.40 0.60 0.25
5. 0.58 0.42 0.25 20. 0.55 0.45 0.25
6. 0.53 0.47 0.25 21. 0.40 0.60 0.25
7. 0.70 0.30 0.25 22. 0.53 0.47 0.25
8. 0.58 0.42 0.25 23. 0.40 0.60 0.25
9, 0.45 0.55 0.25 24, 0.60 0.40 0.25
10.” 055 0.45 0.25 25. 0.63 0.37 0.25
1. 045 0.55 0.25 26. 0.58 0.42 0.25
12 043 0.57 0.25 27. 0.68 0.32 0.25
13. 048 0.52 0.25 28. 0.48 0.52 0.25
4. 053 0,47 0.25 29. 0.63 0.37 0.25
15. 0.3 0.47 0.25 30. 0.58 0.52 0.25

2 =133
pq
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auf X x2 AU X x?
1. 25 625 21. 16 256
2. 24 576 22. 15 225
3, 23 529 23. 14 196
4. 22 484 24, 14 196
5. 22 484 25 13 169
6. 22 484 26. 13 169
7. 21 441 27. 13 169
8. 21 441 28. 12 144
9, 21 441 29. 12 144
10, 21 441 30. 12 144
11, 20 400 3, 11 121
12. 20 400 32. 11 121
13. 19 361 33. 11 121
14. 19 361 34, 1 121
15. 19 361 3. 11 121
16. 18 324 36. 9 81
17. 17 289 37. 9 81
18. 17 289 38. 9 81
19. 17 289 39. 8 64
20. 16 256 40. 8 64

2x =636
2x? = 11064
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Pq
2x

2x?

¢

7.33

636
11060
40

N2x? -l xf

N(N —1)
40(11060)—(636)°

40(39)
442400 - 404496
1560

24.29

40 [1 ~ 733 }
390 24.29
1.03[1-0.30]
(1.03}0.70)
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4 1 @ 53
lﬁﬂﬂ'}'llllelsll'lal‘ﬂ‘uﬂﬁlmazﬂﬂﬂz ATHULAY 30 AZLUY

. o 4 Mainldea Details Vocabulary References Implication I
a1aAuUN o)
) (10) () ®) ®) nQUAIBEN
1 4 6 2 3 2 17
2 5 5 3 3 3 19
3 4 4 2 4 3 17
4 5 7 3 4 2 21
5 4 6 1 3 3 17
6 3 7 3 4 3 20
7 4 8 3 4 3 22
8 4 7 3 4 3 21
9 5 7 2 4 3 21
10 4 6 2 4 3 19
11 4 7 3 4 3 21
12 4 6 3 4 3 20
13 4 6 2 3 2 17
14 5 5 4 4 3 21
15 4 6 1 3 2 16
16 5 7 3 4 3 17
17 5 7 2 4 3 21
18 4 7 3 4 3 16
19 3 6 3 5 3 22
20 4 6 2 5 2 21
21 4 6 3 5 3 21
22 4 6 1 3 2 20

23 5 7 3 4 3 19
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Main Idea Details  Vocabulary References Implication MU

S AN
(5) (10) (5) 5) (5) NRIAIBEL N
24 4 8 2 4 3 21
25 5 9 3 4 3 16
26 4 7 3 4 3 22
27 4 6 3 4 2 21
28 5 6 3 4 2 24
29 4 7 2 3 2 21
30 3 6 3 4 2 19
31 4 8 3 3 2 20
32 3 6 3 3 3 18
33 4 7 3 3 3 18
34 3 7 3 2 3 20
35 3 7 3 2 3 18
36 3 6 5 4 5 20
37 3 5 5 3 4 18
38 3 7 3 5 3 18
39 3 8 3 3 3 23
40 5 8 4 4 4 20
41 4 6 3 4 4 21
42 3 7 3 2 4 20
43 3 5 3 4 2 24
44 3 6 4 2 2 21
45 3 6 5 3 2 19
46 4 6 3 3 3 17

47 3 6 3 3 3 17




112

A15719% 10 (7D)

Main Idea Details  Vocabulary References Implication UM

drdud N
5) (10) ®) ®) ®) ngueiIvE1
48 3 7 4 4 3 19
49 4 8 5 4 3 19
50 5 9 3 3 4 17
51 4 7 3 3 3 20
52 3 6 4 4 2 24
53 3 6 5 3 2 24
54 3 5 3 2 3 20
55 4 7 4 2 2 17
56 3 8 4 3 4 18
57 4 9 3 4 4 16
58 3 5 3 4 3 19
59 3 6 3 3 5 22
60 3 6 3 3 4 24
61 3 7 4 2 3 18
62 3 8 3 3 4 20
63 3 5 3 4 4 19
64 3 6 3 5 3 18
65 4 6 4 3 3 21
66 3 6 3 3 2 19
67 3 7 4 4 3 20
68 3 7 4 2 3 20
69 3 8 3 2 2 17
70 3 7 3 2 2 19

71 4 6 3 4 3 18
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Main Idea Details Vocabulary References Implication UM

dudi N
) (10) ®) ) (5) NQUAIBLN
72 3 6 2 3 4 18
73 3 7 3 3 5 17
74 4 5 3 2 4 20
75 3 5 4 2 5 18
76 3 6 3 3 2 19
77 3 7 3 2 3 18
78 3 6 3 3 4 19
79 3 7 3 3 2 17
80 3 5 3 3 3 18
81 3 6 3 3 4 19
82 3 7 3 3 5 18
83 3 7 3 3 2 19
84 3 7 1 4 2 23
85 4 7 2 2 3 21
86 4 6 2 3 3 21
87 3 7 3 4 3 17
88 4 8 2 4 3 20
89 3 7 3 5 3 18
90 5 7 2 4 3 20
91 3 8 3 4 3 21
92 3 7 2 4 3 21
93 3 7 3 5 3 21
94 3 6 3 4 3 21

95 3 7 3 4 3 19
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. o 4 Mainldea Details Vocabulary References Implication UM
e (5) (10) (5) ) ) YUY

96 4 7 2 3 3 21

97 3 6 2 3 3 22

98 4 8 2 4 3 20

99 3 7 2 2 4 19

100 5 7 3 2 4 17

101 3 7 2 4 3 21

102 4 7 4 3 4 18
Total 343 685 324 333 328 102
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